3000
. time 0 ——
2500| line 8
S 2000
E 1500
g
p 1000
2 500
% ORBPGm.go XVE Teo Rios HPT Pno ~P3-5’épan intron P3gSDanA Tsa LB
o2 > H S S 155iC) Dy (arget: R
2 3000
8 . time 0 ——
82500 [ine 19
€ 2000
C
1500
1000
500
0
1 kbp
6000 104 Iine 8 time Q0 —
. time 0 ——
5000 | line 8 10°
< 4000 102
E 3000 g 10"
w —
% 1000 210"
— I A e s Y 2} -
® RB  Puos NPTII Tuos Piss GFP Tuos <ZE 10 P35S g loop P35S
S D, Bl target [ X 4
:g 6000 g104 time 0 ——
. time 0 —— =03 i
55000 | [ine 19 10 line 19
o] Y 102
€ 4000 o
2 210°
3000 E10°
c -1
2000 18_2
1000 10—3 —\
0
1 kbp 50 bp

Additional file 5 Distribution of siRNAs along the two T-DNAs before and after 10-day treatment with

B-estradiol.

siRNAs matching with (A) the inducer (unspliced) and (B) the target T-DNAs are depicted as the numbers
per million of all sequenced siRNAs (note different scales for the two lines); (C) close-up of the distribution
of siRNAs along the spliced spacer region of the hairpin transcript (in a logarithmic scale).



